OFFICE OF EXECUTIVE ENGINEER JSD DIVISION HANDWARA

M/S : Mohammad Pappu Contractor

o : Chav

R/o : Hathangon, Tehsil Punbana Distt Nuh and State Harayana

Regd No : 2021R2957 /HEWP/2021 GST No. : 06BFPPP7642C2Z7

Cell No. : 94116086683 No: - PHE/Hand 2630-34 Date: 20, 10, 2023

Adv. Cost : - Rs 124.31 Lacs

Allotted Cost:-Rs.12431217.92/-

(One Crore Twenty Four Lacs Thirty One Thousand Two Hundred Seventeen and Ninety Two Paisa Only)

Time of Completion 180 days

Sub: Construction Including Successful Testing and Commissioning of Laying and Fitting, Constt of SR 0.30 Lac gallons, Constt of 0.40 Lac gallon SR, Constt of Chain Link Fencing and Constt of 2 No.Pump House, Constt of Gang but, Constt of R/Wall B/Wall and Constt of anchor Blocks/saddle Blocks for WSS Shadipora (under JJM)

Ref:- Your tender in response to this office E-NIT No. 16 /PHE /Hand 07/2023 of S.No.05 issued under this Office No.PHE/Hand/1354-61 Dated 31-07-2023

2. District Development Commissioner Kupwara's authorization No. DDCK/Plg/JJM/4901-18 dated.14-09-2023,

3. Accord No.CE/PHE/DB/JJM/246 of 08/2022 dtd 31-08-2022

4. Technical Sanction Order No.CE/PHF/DB/241 of 08/2022 dtd 31-08-2022

5. Letter of Intent No.PHE/Hand/1986-89 Dated. 09-09-2023

For and on behalf of Governor of Jammu & Kashmir UT State, contract for the above subjected work, is here by fixed with you on the negotiated / following rates, terms and conditions which are reproduced as under:

SLNo	Description of Work Items	Qnty	Unit	Alloted Rate in Rs	Amount in Rs
	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed in:-All kinds	1598.26	Cum	436.00	696841.36
	of Soil Ordinary Rock	235.48	Cum	841.60	198179.97
3 1 b a	Earth work in excavation by mechanical means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 0 sqm on plan, including dressing of sides and ramming of ottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed In all kinds of	702.80	Cum	252.05 V	177140.74
4 as lea	arth work in bulk excavation by mechanical means (hydraulic scavator) over areas (exceeding 30 cm in depth, 1.5 m in width well as 10 m2 on plan) including disposal of excavated earth ad upto 50 meters and lift upto 1.5 m, as directed by Engineer-Charge, in all kinds of Soil	406.44	Cum	188.75	76715.55 —
5 exc	tra for every additional lift of 1.5 m or part thereof in cavation/banking excavated or stacked material: Addll 1 lift kinds of Soil	271.50	Cum	81.65	22167.98
incl	luding Filling, Spreading, ramming cost of Stone boulders all leads and lifts including all carriages complete.	2 87.37	Cum	1320.00	115328.40
Pro- grad shut	viding and laying in position cement concrete of specified de including curing butxcluding the cost of centring and tering. All work upto plinth level with: 1:4:8 mix (1 Cement: ourse Sand: 8 graded crushed stone agg 40mm nominal size)	∠ 40.66	Cum	4861.84	197682.41
grade shutte	iding and laying in position cement concrete of specified including curing butxcluding the cost of centring and ering. All work upto plinth level with: 1:3:6 mix (1 Cement: urse Sand: 6 graded crushed stone agg 20mm nominal size)	177.81	Cum	5399.02	959999.75 2
specifi and sh	ding and laying in position Reinforced cement concrete of sed grade including curing butxcluding the cost of centring uttering. All work upto plinth level with: 1:2:4 mix (1 at: 2 Course Sand: 4 graded crushed stone agg 20mm al size)	28.35	Cum	6978.68	197845.58
Providi specific centring mix (1	ing and laying in position Reinforced cement concrete of ed grade including curing but excluding the cost of g and shuttering. All work upto plinth level with: 1:1.5:3 Cement: 3 Course Sand: 3 graded crushed stone agg nominal size)	43.52	Cum	7801.00	339499.56

Shecked by HD

1.0 T.0

/mg

Shadipora UM Pag



H	Reinforced cement concrete work in walls (any thickness)				
1	fillets, columns, pillars, piers, abutments, posts and struts upto floor five level including curing but excluding cost of centering shuttering, finishing and reinforcement. 1:1.5:3 mix.	56.82	Cum	9408.14	534570.51
12	Reinforced cement concrete work in Suspended floors, roofs having slope upto 15°, beams etc upto floor five level level including curing but excluding the cost of centering, shuttering finishing and reinforcement with: 1:1½:3 (1 cement : 1½ coars sand : 3 graded stone aggregate 20 mm nominal size)		Cum	9849.35	226732.04
13	Reinforced cement concrete work in arches, archribs, domes, vaults shells, folded plate and roofs having slope more than 15° upto floor five level level including curing but excluding the cost of centering, shuttering finishing and reinforcement with: 1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 2 mm nominal size)	20.54	Cum	10404.50	213708.43
14	Brick work with common burnt clay (non-modular) bricks of class designation 7.5 in foundation and plinth including curing in Cement mortar 1:6 (1 cement: 6 coarse sand) Extra for brick work with common burnt clay bricks /cement	n 38.00	Cum	6802.13	258480.94
15	concrete bricks in superstructure above plinth level upto floor five level Steel reinforcement for R.C.C. work including straightening,	46.00	Cum	1456.02	66976.92
16	upto plinth level Centering and shuttering including strutting, promise at a strutting pro	14269.00	Kg	87.18	1243971.42
18	Foundation				0.00
	Walls	145.33	Sqm	262.30	38120.06
	Beams	1447.17	Sqm	573.85	830458.50
	Suspended Floors Columns	69.08 109.06	Sqm	502.85	34736.88
_		- 66.00	Sqm	635.60	69318.54
24-	Domes exceeding 6 Mtr Span Edges of slabe and break in 6	712.70	Sqm	680.15	44889.90
25	Edges of slabs and breaks in floors upto 200mm thick. Extra for Centering and shuttering in Circular.	c 90.00	Sqm	3095.25	348834.68
26	Foundation		Sqm	242.30	21807.00
	Walls	29.97	Sgm	52.46	0.00
8	Beams (Ring Beam of SR)	426.91	Sqm	114.77	1572.23
11	Providing wood work in frames of doors with	-36.88	Sqm	100.57	48996.46
9	windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and ength (hold fast lugs or with dash fasteners shall be paid for eparately): KD Wood Providing and fixing panelled or panelled and glazed shutters for	_ 1.42	Cum	60000.00	3709.02 85200.00
0 0 W	of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of ingineer-in-charge. KD wood 35mm thick	10.80	Sqm	2500.00	27000.00
1 0 0	roviding and fixing panelling or panelling and glazing in anelled or panelled nd glazed shutters for doors, Windows and clerestory windows (Area of pening for panel inserts excluding ortion inside grooves or rehates to be measured). Panelling for anelled or panelled and glazed shutters 25 mm to 40 mm thick becorative ply wood both side decorative veneer (type 1) onforming to IS 1328 BWR type	6.50	Sqm	2360.95	15346.18
2 1	loat glass panes 4 mm thick glass pane (weighing not less than 0 kg/sqm)	4.00	Sqm	1769.01	
3 IS	roviding and fixing glazed shutters for doors, windows and erestory windows using 4mm thick float glass panes including all marked M.S. pressed butt hinges bright finished of required ze with necessary screws. Second KD wood 35mm thick.	15.84 L	Sqm	2500.00	39600.00
di	roviding and fixing wire gauze shutters using galvanized M.S. ire gauze of average width for aperture 1.4 mm in both rections with wire of dia. 0.63 mm for doors, windows and erestory windows with ISI marked M.S. pressed butt hinges right finished of required size with necessary screws as per rection of Engineer-in-charge. KD wood 35mm thick	26.64 L	Sqm	2200.00	58608.00

AB.

Down

Shadipora IJM Page N





No.	Providing 40x5 mm flat iron hold fast 40 cm long including				1 1
	fixing to frame with 10 mm diameter bolts, nuts and wooden			-	
	plugs and embeddings in cement concrete block 30x10x15 cm	4 - 1	1,4		
35	1:3:6 mix (1 cement : 3 coarse sand : 6 graded stone aggregate	- 1			
33	20 mm nominal size).	72.00	No	163.05	11739.60
	land months and size).	0		/	
		Y			
		,	* k		
	Supplying and filling in plinth with fine sand under floors				
36	including, watering, ramming, consolidating and dressing	71.10	Cum	787.401	55984.14
	complete	//		70	2070
	Cement concrete flooring 1:2:4 (1cement: 2 coarse sand: 4 graded	4			
	stone aggregate) finished with a floating coat of neat cement				
37	including cement slurry and curing complete, but excluding the	79.40	Sqm	505.00	40097.00
	cost of nosing of steps etc. complete.50 mm thick with 20mm	4			
	nominal size stone aggregate	,			
	12 mm thick Cement plaster 1:4 (1 cement: 4 coarse sand)	4 1 2		Access Consultation	
38	finished with a floating coat of neat cement	512.00	Sgm	325.45	166630.40
		4	. ,	K	
39	15mm Cement plaster on the rough side of single or half brick	222 (4		272.62	((495.10
	wall of mix: 1:6 (1 cement: 6 coarse sand)	238.64	Sqm	278.60	66485.10
	Laying and fitting of G.I. pipes (all classes) including Pipe Fitting				
40	complete excluding cost of	[]			0.00
	pipes, and Earth work.				
41	80 mm Dia G.I. Pipes	1310.00 /	Mtr	76.70	100477.00
42	65mm Dia G.I. Pipes	1750.00	Mtr	76.70 V	134225.00
43	50mm Dia G.I. Pipes	2450.00	Mtr	42.84	104958.00
44	40mm Dia G.I. Pipes			42.84	64260.00
45	25mm Dia G.I. Pipe	1500.00	Mtr		
46	20mm Dia G.I. Pipe	2000.00	Mtr	32,18	64360.00
47	15mm Dia G.I. Pipes	2500.00	Mtr	21.26	53150.00
٠,		1500.00	Mtr	21.26	31890.00
48	Providing and fixing gun matel gate value with CI wheel of		35:		0.00
49	approved quality. 20 mm nominal bore	20.00 I A		11215	0272.00
50	25 mm nominal bore	20.00	No	463.65	9273.00
51	40 mm nominal bore	20.00	No	543.85 C	10877.00
52	50 mm nominal bore	15.00	No	704.70	10570.50
53	65 mm nominal bore	8.00	No	942.75	7542.00
54		5.00	No	1568.85	7844.25
34	80 mm nominal bore	5.00	No	2406.65	12033.25
	Making connection of G.I. distribution branch with G.I. main of				
55	following sizes by providing and fixing Tee, including cutting and	. 4			0.00
33	threading the pipe etc. complete				0.00
	25 to 40ind born	4			
56	25 to 40 mm nominal bore 25 to 40 mm nominal bore	50.00	No	666.25	33312.50
57	50 to 80 mm nominal bore		No	1268.75	
31		15.00	NO	1206.73	19031.25
	Laying and fitting of G.l. Pipes in trenches with flanged joints including cost of 12mm MS Flanges, nuts, bolts, rubber insertion,				
58	testing and commissioning and all carriages etc complete but	7		-7	0.00
50	excluding cost of earth work and pipes.	133.00 🗸	Joints	1100.00	146200.00
59	80mm dia	42.00	Joints		146300.00
60	65mm dia	42.00	Joines	1000.00	42000.00
	Fabricating, Providing and fixing MS Fittings viz Bends, Tees,				
	etc of required degree and size to be fabricated from 6mm				
61	nominal size MS Plate including cost of welding. The work	200.00	Kg	147.82	29564.00
and the same of th	should be leak proof and includes to be painted with			1	
	antoiccorrusive red oxide primer and all carriages upto site of			2.9	
	work complete				
	Providing and fixing 150mm dia Sluice Value with ISI Mark	6.00	No	1450000	93000.00
62	with Wheel type handle including cost of flanges, nuts, bolts,	0.00	No	14500.00	87000.00
	rubber insertion all carriages complete.				
	Providing and fixing 100mm dia Sluice Value with with ISI Mar	4.00	Ma	10100.00	
63	Wheel type handle including cost of flanges, nuts, bolts, rubber	4.00	No	10100.00	40400.00
	insertion all carriages complete.				
	Providing and fixing 80mm dia Sluice Value with with ISI				
	IN to All hard type handle including cost of flanges nuts halts	4.00	No	8500.00	34000.00
54	MarWheel type handle including cost of flanges, nuts, bolts, rubber insertion all carriages complete.		.,		21000.00

A B

Sal V

Shadipora LIM Page No 3



65	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc, in layers no exceeding 20 cm in death, consolidation each described as by secondary and	2188.66	Cum	198.70	
_	depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5m Providing and incorporating during construction PCL Short stells.				13482. In
6	Providing and incorporating during construction PGI Sheet strip including all sort of carriage etc complete job to make the construction joint water tight.	183.74	RM	350.00	64309.00
7	Providing and fixing PVC pipe bends 80mm dia for air vents.	24.00	No	100.00	
	Supplying and fixing rolling shutters of approved make, made of required size M.S. laths, interlocked together through their entire length and jointed together at the end by end locks, mounted on specially designed pipe shaft with brackets, side guides and				2400.00
8	arrangements for inside and outside locking with push and pull operation complete, including the cost of providing and fixing necessary 27.5 cm long wire springs manufactured from high tensile steel wire of adequate strength confirming to 15:4454 part-1 and M.S. top cover of required thickness for rolling	21,00	Sqm	3238.20	68002.20
	shutters.80x1.25 mm M.S. laths with 1.25 mm thick top cover			The state of the s	
9	Providing and fixing ball bearing for rolling shutters.	4.00	No	483.10	1932.40
0	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	7718.00	Kg	91.03	702569.54
	Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel as required in gratings, frames, guard bars, ladder, railings, brackets, gates and similar works.	684.00	Kg	133.30	91177.20
	Structural Steel Work in built up sections in trusses, and framed work, including cutting, hoisting, fixing in position and applying a priming coat coat of approved steel primer all complete. (Welded)	5600.00	Kg	92.85	519960.00
3	Providing and fixing G.I. Chain Link fabric fencing of required width in mesh size 50 x 50mm including strengthening with 2mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer - In- Charge made of G.I. Wire of dia 4mm.	560.00	Sqm	733.50	410760.00
14	Providing corrugated G. S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8mm diameter with bitumen and G.I limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (upto any pitch in horizontal/vertical or curved surface) excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required 0.63 mm thick with zine coating not less than	170.00	Sqm	951.80	161806.00
15	Providing ridges or hips of width 60cm overall width plain G.S. sheets fixed with polymer coated J. or L hooks, bolts and nuts 8mm dia G.1. limpet and bitumen washers complete.	40.00	RM	691.35	27654.00
16	Providing and fixing 15cm wide 45 cm overall semi circular plain G.S. sheet gutter with iron brackets 40x3mm size, bolts, nuts and washers etc. including making necessary connections with rain water pipes complete. 0.80 mm thick with zine coating not less than 275 gram/m2	38.00	RM	626.15	23793.70
77	Providing and fixing plained caves boarding of nominal size.	62.40	RM	375.00	22100.00
78	Providing and applying white cement based putty of specified thickness, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete. 2 mm thick	238.64	Sqm	172,40	23400.00 41141.54
79	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade on New work (two or more coats) over and including priming coat with water thinnable cement primer	238.64	Sqm	149.05	35569.29
80	Applying priming coat: With ready mixed pink or grey primer of approved brand and manufacture on wood work (hard and soft wood)	172.62	Sqm	59.50	10270.59

Secked by HD

B

Line

Shadipora LIM Page N



Painting with synthetic enamel paint of approved brand and manufacture to give an even shadeTwo or more coats on new work.	172.62	Sqm	121.95	21051.01
Applying priming coat With ready mixed red oxide Zinc Chromate primer of approved brand and manufacture on steel galvanized iron/steel works	581.00	Sqm	52.75	30647.75
Painting steel work with deluxe multi surface paint of required shade to give an even shade. Two or more coats applied @ 0.90litre/10sqm over an under coat of primer applied @ 0.80litre/10sqm of approved brand and manufacture	581.00	Sqm	125.60	72973.60
Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm)	200.00	Sqm	91.80	18360.00
Providing and fixing aluminum sliding door bolts ISI marked anodized (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with nuts	12.00	No	292.80	3513.60
Providing and fixing aluminum tower bolts ISI marked anodized (anodiccoating not less than grade AC 10 as per IS: 1868) transparent or dyed torequired colour or shade with necessary				0.00
	24.00	No	80.35	1928.40
			57.35	3670.40
Providing and fixing aluminum handles ISI marked anodized (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour and shade with necessary	04.00			0.00
	12.00	No	66.35	796.20
	64.00	No	52.30	3347.20
Providing and laying vitrified floor tiles in different sizes (thickness tobe specified by the manufacturer) with water absorption less than 0.08% and conforming to IS:15622 of approved make, in all colours and shades, laid on 20mm thick	20.00	Sqm	1249.30	24986.00
Providing and fixing 1st quality ceramic glazed wall tiles conforming to 1S: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete	75.60	Sqm	1161.05	87775.38
AL-PE) Composite Pressure Pipes conforming to IS: 15450, U.V. stabilized with carbon black having thermal stability for hot and cold water supply, capable to withstand temperature upto 80°C, including all special fittings of composite material (engineering plastic blend and brass inserts wherever required) e.g. Elbows, tees, reducers, couplers and connectors etc. This includes testing of joints complete as per direction of the Engineer-in-charge; Internal work-exposed on	36.00	RM	321.15	11561.40
wall with clamps at 1.00 meter spacing 1620 (20mm OD) pipe	36.00	RM	385.85	13890.60
2025 (25mm OD) pipe	10.00	No	259.70	2597.00
	10.00	No	309.20 /	3092.00
Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot and cold water supply, including all CPVC plain and brass threaded fittings. This includes jointing of pipes and fittings with one step CPVC solvent and testing of joints complete as per direction of Engineer	40.00	RM	2760.40	110416.00
	manufacture to give an even shadeTwo or more coats on new work. Applying priming coat With ready mixed red oxide Zinc Chromate primer of approved brand and manufacture on steel galvanized iron/steel works Painting steel work with deluxe multi surface paint of required shade to give an even shade. Two or more coats applied @ 0.90litre/10sqm over an under coat of primer applied @ 0.90litre/10sqm of approved brand and manufacture Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm) Providing and fixing aluminum sliding door bolts ISI marked anodized (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with nuts and screws etc. complete: 300x16 mm Providing and fixing aluminum tower bolts ISI marked anodized (anodiccoating not less than grade AC 10 as per IS: 1868) transparent or dyed torequired colour or shade with necessary screws etc. complete: 150 x 10mm 100 x 10mm Providing and fixing aluminum handles ISI marked anodized (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour and shade with necessary screws etc. complete. 125mm 100mm Providing and laying vitrified floor tiles in different sizes (thickness tobe specified by the manufacturer) with water absorption less than 0.08% and conforming to IS: 15622 of approved make, in all colours and shades, laid on 20mm thick Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineerin-Charge, in skirting, risers of steps and dados over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete Providing and fixing Polyethylene-Aluminum-Polyethylene (PE-AL-PE) Composite Pre	manutacture to give an even shadeT wo or more coats on new work. Applying priming coat With ready mixed red oxide Zinc Chromate primer of approved brand and manufacture on steel galvanized iron/steel works. Painting steel work with deluxe multi surface paint of required shade to give an even shade. Two or more coats applied @ 0.90litre/10sqm over an under coat of primer applied @ 0.80litre/10sqm of approved brand and manufacture Finishing malls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm) Providing and fixing aluminum sliding door bolts ISI marked anodized (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with nucs and serves etc. complete: 300x16 mm Providing and fixing aluminum bandles ISI marked anodized (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete: 150 x 10mm 100 x 10mm 100 x 10mm 100 x 10mm 1100 x 10mm 125mm 125mm 120mm 125mm 120mm 125mm 120mm 125mm 120mm	manulacture to give an even shadeT wo or more coats on new work. Applying priming coat With ready mixed red oxide Zinc Chromate primer of approved brand and manufacture on steel galvanized iron/steel works. Painting steel work with deluxe multi surface paint of required shade to give an even shade. Two or more coats applied @ 0.901itre/10sqm or a under coat of primer applied @ 0.901itre/10sqm or a under coat of primer applied @ 0.901itre/10sqm or a proved brand and manufacture Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 1.84[10sqm]	manulacture to give an even shader two or more coats on new work. Applying priming coat With ready mixed red oxide Zine Chronate primer of approved brand and manufacture on steel galvanized iron/steel works. Painting steel work with deluxe multi surface paint of required shade to give an even shade. Two or more coats applied @ 0. 80litre/Dosum or an under coat of primer applied @ 0. 80litre/Dosum or an under coat of primer applied @ 0. 80litre/Dosum or an under coat of primer applied @ 0. 80litre/Dosum of approved brand and manufacture. Finishing walls with water proofing cereme plant of required shade on New work (two or more coats applied @ 3.84 kg/Tosym). Providing and fixing aluminum sliding door bolts ISI marked anodized (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with nuts and screws etc. complete: 300x16 mm Providing and fixing aluminum handles ISI marked anodized (anodic-coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete: 300x16 mm Providing and fixing aluminum handles ISI marked anodized (anodic-coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete: 300x16 mm 100 x 10mm Providing and fixing aluminum handles ISI marked anodized (anodic-coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour and shade with necessary screws etc. complete. 125mm 120 No 80.35

7.0 T.0 Na Carlo

Shadipora JJM Page



Solvated min with integral type foot rests. Providing and fixing Stainless Steel A ISI 304 (18/8) kitchen sink as per 1.5. 13983 with C.L. brackets and stainless steel plug 40 mm, including parting of fiftings and brackets, cutting and making good the walls wherever required. Kitchen sink without drain board 610-510mm bowl depth 200mm Providing and fixing 1.5 mm nominal bore C.P brass bib cock of sproved quality conforming to 15: 8931 Providing and fixing 1.5 mm nominal bore C.P. Brass close hole approved quality conforming to 15: 8931 Providing and fixing 1.5 mm nominal bore C.P. Brass close hole approved quality conforming to 15: 8931 Providing and fixing 1.5 mm nominal bore C.P. stop cock of sproved quality conforming to 15: 8931 Providing and fixing 1.5 mm nominal bore C.P. stop cock of sproved quality conforming to 15: 8931 Providing and fixing 1.5 mm nominal bore C.P. stop cock of sproved quality conforming to 15: 8931 Providing and fixing 1.5 mm nominal bore C.P. stop cock of sproved quality conforming to 15: 8931 Providing and fixing 1.5 mm nominal bore C.P. stop cock of sproved quality conforming to 15: 8931 Providing and fixing 1.5 mm nominal bore C.P. brass angle valve to 15: 8931 Providing and fixing 1.5 mm nominal bore C.P. brass angle valve to 15: 8931 Providing and provided make and quality and make conforming to 15: 8931 Providing and provided make and quality and provided make conforming to 15: 8931 Providing and placing on terrace (at all floor hex/st) polyethylene valve sprovided make conforming to 15: 12701 marked, with cover and suitable locking arrangement and making necessary boles for inde, sulter and overflow pipes but without fittings and the base support for tank. Constructing masonry Chamber 30:30:50 cm inside, in brick work in cerement norare 14: 14 (cenent 3 coarse sand) 12 mm links, finished with a floating necessary boles for inde, sulter and overflow pipes but without fittings and the base apport for put department of the sprovided pass designation 7.5 mm nominal									
100 mm, including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink without drain broard 6 10x 510mm boul depth 20mm in the boulding and fixing P.V.C. waste pipe for sink or wash basin dia including and fixing P.V.C. waste pipe for sink or wash basin dia including and fixing P.V.C. waste pipe for sink or wash basin dia including and fixing P.V.C. waste pipe for sink or wash basin dia including and fixing P.V.C. waste pipe for sink or wash basin dia including and fixing 15 mm nominal bore C.P. brass bid occk of approved quality conforming to 15: 8931 Providing and fixing 15 mm nominal bore C.P. Brass close hole than 1.97 Kg. 104 (concealed) of standard design and of approved make conforming to 15: 8931 providing and fixing 15 mm pominal bore C.P. brass angle valve for tasin mixer and geyser points of approved make conforming to 15: 8931 providing and fixing 15 mm nominal bore C.P. brass angle valve for tasin mixer and geyser points of approved make conforming to 15: 8931 providing and fixing 15 mm pominal bore C.P. brass angle valve for tasin mixer and geyser points of approved make conforming to 15: 8931 providing and fixing 15 mm nominal bore C.P. brass angle valve for tasin mixer and geyser points of approved make conforming to 15: 8931 providing and fixing C.P. Brass extension nipple (size 15mm x 50mm) of approved make and qualify as per direction of Engineer in the state of the providing and placing on terrace (at all floor levels) polyethylene water storage tank 15: 1:2701 marked, with cover and suitable locking arrangement and making necessary belse for indet, outet and overlow pipes but without fittings and the bass support for tank. 100 providing and fixing C.P. Brass extension nipple (size 15mm x 50mm) providing and fixing to the	99	Low Level White PVC Flushing Cistern including flush paperoved make with manually controlled device (Hadle confirming to 18: 7231 with all fittings and fixtures complined uting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting and making good the walls and floors where the confirming cutting the confirming cutting and making good the walls and floors where the confirming cutting the cutting the confirming cutting the confirming cutting the confirming cutting the cutting cutting the cutting the cutting the cutting the cutting cutting the cutting cutting the cutting the cutting the cutting the cutting cutting the cutting th	capacity pipe of lever)	l ,	2.00		No	5534.8	1106
making good the walls wherever required. Kitchen sink without drain board 610x510mm bowl depth 200mm Providing and fixing P.V.C. waste pite for sink or wash basin including. P.V.C. waste pite for sink or wash		Providing and fixing Stainless Steel A ISI 304 (18/8) kitch as per I.S. 13983 with C.L. brackets and stainless steel at	40			1 14	1		
101 Including P. V.C. waste firtings complete: Semi rigid pipe 32 mm 2.00 No 131.15 2 102 102 102 103 103 103 104 105 10	100	making good the walls wherever required: Kitchen sink with drain board 610x510mm bowl depth 200mm	l ithout	2.	00	N	0	4575.20	9150.4
Providing and fixing 15 mm nominal bore CP. Brass close hole than 197 Kg. Providing and fixing 15 mm pominal bore CP. stop cock (concealed) of standard design and of approved make conforming to IS: 8931 Providing and fixing 15 mm nominal bore CP. brass angle valve for basin mixer and geyser points of approved make conforming to IS: 8931 Providing and fixing 15 mm nominal bore CP. brass angle valve for basin mixer and geyser points of approved make conforming to IS: 8931 Providing and fixing 15 mm nominal bore CP. brass angle valve for basin mixer and geyser points of approved make conforming to IS: 8931 Providing and fixing CP. Brass extension nipple (size 15mm x for incharge) Providing and fixing CP. Brass extension nipple (size 15mm x for incharge) Providing and placing on terrace (at all floor levels) polyethylene water storage tank [SI: 1270 marked, with cover and suitable tocking arrangement and making necessary holes for inkle, outlet and overflow pipes but without fittings and the base support for tank Constructing masonny Chamber 30x30x50 cm inside, in brick work in cement mortar 1:4 (I cement: 1.5 coarse sand: 3 graded stone aggregate 20 mm nominal size pickeding necessary stopes of the place of the plac	101	including P.V.C. waste pipe for sink or wash base including P.V.C waste fittings complete: Semi rigid pipe 32 dia	2 mm	2.0	00	- No	,	131.15	262.30
Basin Mixer of approved quality and make wheighing not less 4.00	102	1-Proved quarry conforming to 18 - x031		4.0	0	No		436.50	1746.00
tolls: 8931 Providing and fixing 15 mm nominal bore C.P. brass angle valve for incision mixer and geyser points of approved make conforming to 1S: 8931 Providing and fixing C.P. Brass extension nipple (size 15mm x 50mm) of approved make and quality as per direction of Engineer incharge Providing and placing on terrace (at all floor levels) polyethylene water storage tank IS: 12701 marked, with cover and suitable cocking arrangement and making necessary boles for inliet, outlet and overflow pipes but without fittings and the base support for tank Constructing masonry Chamber 30x30x50 cm inside, in brick work in cement mortar 14 (1cement: 4 coarse sand), with C.I. surface box 100x100x75 mm (inside) with hinged cover fixed in cement concrete slab 1:15:3 mix (1 cement: 1.5 coarse sand: 3 graded stone aggregate 40 mm nominal size) including necessary excavation, foundation concrete 1:5:10 (1 cement: 3 coarse sand) 12 mm thick, finished with a floating coat of neat cement complete as per standard design. With common burnt clay (non modular) bricks of class designation 7.5 Providing and fixing C.I manhole Cover 0.45 x 0.45m size 4.00 No 1750.00 7000.00 Providing and fixing PVC Soil waste and vent pipe of reputed make incide arth eork and refilling. 100mm dia 30.00 RM 880.00 26400.00 175 mm dia 100mm floor trap 2.00 No 350.00 1000.00 No 250.00 1000.00 No 150.00 1200.00 No 150.00 1200.00 No 150.00 150.00 No 150.00 150.00 Providing Lighting points. Using wire of 1-5 sqmm, copper conductor, Multi stranded, 1100 volts, FR, for phase, neutral & 6.00 No 250.00 1500.00 Providing Lighting points. Using wire of 1-5 sqmm, copper conductor, Multi stranded, 1100 volts, FR, for phase, neutral & 6.00 No 250.00 1500.00 Providing Lighting points. Using wire of 1-5 sqmm, copper		than 1.97 Kg	ole	4.0	0	No		5000.00	20000.00
to IS: 8931 Providing and fixing C.P. Brass extension nipple (size 15mm x 5mm) of approved make and quality as per direction of Engineer incharge Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank Constructing masonry Chamber 30x30x50 cm inside, in brick work in cement mortar 1:4 (I cement: 4 coarse sand), with C.I. surface box 100x100x75 mm (inside) with hinged cover fixed in cement concrete 1sb 1:1.5.3 mix (I cement: 1.5 coarse sand); a graded stone aggregate 20 mm nominal size) including necessary executation, foundation concrete 1:5:10 (I cement: 3 fine sand: 10 graded stone aggregate 20 mm nominal size) including necessary examples and inside plastering with cement mortar 1:3 (I cement: 3 coarse sand); a per standard design. With common burnt clay (non modular) bricks of class designation 7.5 Providing and fixing C.I manhole Cover 0.45 x 0.45m size 4.00 No 1750.00 7000.00 Providing and fixing PVC Soil waste and vent pipe of reputed make incled earth cork and refilling. 100mm dia 40.00 RM 1025.00 41000.00 100mm floor trap 2.00 No 500.00 1000.00 RM 880.00 26400.00 RM 880.00 26400.00 RM 880.00 26400.00 RM 880.00 250.00 1000.00 RM 800m floor trap 2.00 No 500.00 1000.00 RM 800m floor trap 4.00 No 250.00 1200.00 RM 800m floor trap 4.00 No 25	-A ,	to IS: 8931		6.00		No		657.30	3943.80
incharge Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank Constructing masonry Chamber 30x30x50 cm inside, in brick work in cement mortar 1:4 (1 cement: 4 coarse sand), with C.I. surface box 100x100x75 mm (inside) with hinged cover fixed in cement concrete slab 1:15:33 mix (1 cement: 5 fine sand: 10 graded stone aggregate 20 mm nominal size) and inside plastering with cement mortar 1:3 (1 cement: 5 fine sand: 110 graded stone aggregate 40 mm nominal size) and inside plastering with cement mortar 1:3 (1 cement: 3 coarse sand) 12 mm thick, finished with a floating coat of neat cement complete as per standard design. With common burnt clay (non modular) bricks of class designation 7.5 90 Providing and fixing C.I manhole Cover 0.45 x 0.45m size 4.00 No 1750.00 7000.00 Providing and fixing PVC Soil waste and vent pipe of reputed make incled earth cork and refilling. 100mm dia 30.00 RM 880.00 26400.00 12 Providing and fixing PVC Door Fittings complete. 30.00 No 300.00 1000.00 13 100mm floor trap 2.00 No 350.00 700.00 14 100mm door junction 2.00 No 350.00 700.00 15 100mm Gasket 20.00 No 350.00 700.00 18 80mm Door Junction 4.00 No 250.00 2500.00 18 80mm Door Junction 4.00 No 250.00 2500.00 20 80mm bend 12.00 No 250.00 1200.00 20 100 On No 150.00 1200.00 20 100 Grating Providing Lighting points. Using wire of 1-5 sqmm, copper conductor, Multi stranded, 1100 volts, FR, for phase, neutral & content and suitable to s	A. S.	to IS: 8931	ing	4.00		- No		536.10	2144.40
locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank Constructing masonry Chamber 30x30x50 cm inside, in brick work in cement mortar 1:4 (Icement: 4 coarse sand) , with C.I. surface box 100x10x75 mm (inside) with hinged cover fixed in cement concrete slab 1:1.5:3 mix (I cement: 1.5 coarse sand): 3 graded stone aggregate 20 mm nominal size) including necessary excavation, foundation concrete 1:5:10 (I cement: 5 fine sand: 10 graded stone aggregate 20 mm nominal size) and inside plastering with cement mortar1:3 (I cement: 3 coarse sand): 2 mm thick, finished with a floating coat of neat cement complete as per standard design. With common burnt clay (non modular) bricks of class designation 7.5 Op Providing and fixing C.I manhole Cover 0.45 x 0.45m size 4.00 No 1750.00 7000.00 Providing and fixing PVC Soil waste and vent pipe of reputed make incide arth cork and refilling. 100mm dia 30.00 RM 880.00 26400.00 Providing and fixing PVC Door Fittings complete. Op Providing and fixing PVC Door Fittings complete. 10 Inform floor trap 2.00 No 500.00 1000.00 1000.00 No 250.00 1000.00 No 250.00 2500.00 1000.00 No 250.00 2500.00 1000.00 No 250.00 1200.00 No 200.00 No 200.00 1200.00 No 200.00 No 200.00 1200.00 Providing Lighting points. Using wire of 1-5 sqmm, copper conductor, Multi stranded, 1100 volts, FK, for phase, neutral & 200.00 No 250.00 1500.00 1500.00 Providing Lighting points. Using wire of 1-5 sqmm, copper conductor, Multi stranded, 1100 volts, FK, for phase, neutral & 200.00 No 250.00 1500.00 1500.00 No 250.00 1500.00 No		incharge	neer-	30.00	1	No		52.30	1869.00
surface box 100x100x75 mm (inside) with hinged cover fixed in cement concrete slab 1:1.5:3 mix (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size) including necessary excavation, foundation concrete 1:5:10 (1 cement : 5 fine sand : 10 graded stone aggregate 40 mm nominal size) and inside plastering with cement mortar1:3 (1 cement : 3 coarse sand) 12 mm thick, finished with a floating coat of neat cement complete as per standard design. With common burnt clay (non modular) bricks of class designation 7.5 10 Providing and fixing C.I manhole Cover 0.45 x 0.45m size	107	locking arrangement and making necessary holes for inlet, outleand overflow pipes but without fittings and the base support for tank	e let	1000.00		Ltr	1	1.25	11250.00
10	108 e. p. m. p.	surface box 100x100x75 mm (inside) with hinged cover fixed in tement concrete slab 1:1.5:3 mix (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size) including necessary excavation, foundation concrete 1:5:10 (1 cement : 5 fine sand : 0 graded stone aggregate 40 mm nominal size) and inside clastering with cement mortar1:3 (1 cement : 3 coarse sand) 12 mm thick, finished with a floating coat of neat cement complete a cer standard design. With common burnt clay (non modules)	n Sy	4.00		No	1908	.50	7634.00
11 75mm dia 30.00 RM 880.00 26400.00 12 Providing and fixing PVC Door Fittings complete. 0.00 13 100mm floor trap 2.00 No 500.00 1000.00 14 100mm door junction 2.00 No 350.00 700.00 15 100mm Collar 8.00 No 175.00 1400.00 16 10mm Gasket 20.00 No 200.00 4000.00 17 100mm bends 10.00 No 250.00 2500.00 18 80mm Door Junction 4.00 No 300.00 1200.00 18 80mm Collar 8.00 No 250.00 2500.00 18 80mm Collar 8.00 No 250.00 2400.00 18 80mm Collar 8.00 No 250.00 2400.00 18 80mm Collar 8.00 No 250.00 1200.00 19 80mm Collar 8.00 No 250.00 1200.00 19 80mm Collar 8.00 No 250.00 1200.00 19 80mm Collar 8.00 No 250.00 1500.00 10 80mm Collar 8.00 No	09 Pr	roviding and fixing C.1 manhole Cover 0.45 x 0.45m size	4	.00	1	No	1750 (0	7000
12 Providing and fixing PVC Door Fittings complete. 30.00 RM 880.00 26400.00 13 100mm floor trap 2.00 No 500.00 1000.00 14 100mm door junction 2.00 No 350.00 700.00 5 100mm Collar 8.00 No 175.00 1400.00 6 10mm Gasket 20.00 No 200.00 4000.00 7 100mm bends 10.00 No 250.00 2500.00 8 80mm Door Junction 4.00 No 300.00 1200.00 9 80mm floor trap 4.00 No 250.00 1000.00 10 80mm bend 12.00 No 200.00 2400.00 10 80mm Collar 8.00 No 150.00 1200.00 10 10 10 10 10 10 11 10 10	1111	ake incid earth cork and refilling, 100mm dia	40	0.00				-	
100mm floor trap 2.00 No 500.00 1000.00 100mm door junction 2.00 No 350.00 700.00 100mm Collar 8.00 No 175.00 1400.00 100mm bends 20.00 No 200.00 4000.00 80mm Door Junction 4.00 No 250.00 2500.00 80mm floor trap 4.00 No 250.00 1200.00 80mm bend 12.00 No 250.00 2400.00 1 80mm Collar 8.00 No 150.00 2400.00 Providing Lighting points Using wire of 1-5 sqmm, copper conductor, Multi stranded 1100 volts, FR, for phase, neutral & 100.00 1000.00 1 80mm Logical Lighting square of 1-5 sqmm, copper conductor, Multi stranded 1100 volts, FR, for phase, neutral & 100.00 1000.00 1 80mm Logical Lighting points 100.00 1500.00 1500.00 1 80mm Logical Lighting points 1500.00 1500.00 1500.00 1500.00 1 80mm Logical Lighting points 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00	2 Pr	oviding and fixing PVC Door Fittings complete.	30	0.00	R	М	880.00		
5 100mm Collar 2.00 No 350.00 700.00 6 10mm Gasket 20.00 No 175.00 1400.00 7 100mm bends 10.00 No 200.00 4000.00 8 80mm Door Junction 4.00 No 250.00 2500.00 9 80mm floor trap 4.00 No 300.00 1200.00 0 80mm bend 12.00 No 250.00 1000.00 1 80mm Collar 8.00 No 150.00 1200.00 2 Floor Grating 6.00 No 250.00 1500.00 Providing Lighting points. Using wire of 1-5 sqmm, copper conductor, Multi stranded, 1100 volts, FR, for phase, neutral & 1500.00 1500.00	3 10	00mm floor trap	2.	00	N	0	500.00		
6 10mm Gasket 8.00 No 175.00 1400.00 7 100mm bends 20.00 No 200.00 4000.00 8 80mm Door Junction 10.00 No 250.00 2500.00 9 80mm floor trap 4.00 No 300.00 1200.00 0 80mm bend 12.00 No 250.00 1000.00 1 80mm Collar 8.00 No 150.00 1200.00 2 Floor Grating 8.00 No 150.00 1200.00 Providing Lighting points. Using wire of 1-5 sqmm, copper conductor, Multi stranded, 1100 volts, FR, for phase, neutral & No 250.00 1500.00					N	0			
100mm bends 10.00 No 250.00 4000.00 8 80mm Door Junction 4.00 No 300.00 1200.00 9 80mm floor trap 4.00 No 250.00 1000.00 0 80mm bend 12.00 No 250.00 1000.00 1 80mm Collar 8.00 No 200.00 2400.00 2 Floor Grating 8.00 No 150.00 1200.00 Providing Lighting points Using wire of 1-5 sqmm, copper conductor, Multi stranded 1100 volts, FR, for phase neutral & 1200.00 1200.00 1 80mm Collar 1500.00 1500.00 1500.00 1 80mm Collar 1500.00 1500.00 1500.00 1500.00 1 80mm Collar 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 1500.00 15	6 10	mm Gasket						-	
8 80mm Door Junction 4.00 No 300.00 1200.00 9 80mm floor trap 4.00 No 250.00 1200.00 0 80mm bend 12.00 No 200.00 2400.00 1 80mm Collar 8.00 No 150.00 1200.00 2 Floor Grating 6.00 No 250.00 1500.00 Providing Lighting points Using wire of 1-5 sqmm, copper conductor, Multi stranded 1100 volts, FR, for phase neutral & 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 1500.00 Somm Door Junction 2500.00 1200.00 1200.00 Conductor 1500.00 1500.00 1500.00 Conductor 1000.00 1500.00 1500.00 Conductor 1000.00 1500.00 1500.00 Conductor 1000.00 1500.00 1500.00 Conductor 1000.00 1000.00 Conductor 1000.00 Conductor 1000.00 1000.00 Conductor 1000.00 Conductor 1000.00	_			$\overline{}$					
Somm bend 12.00 No 250.00 1000.00								1	
1 80mm Collar 12.00 No 200.00 2400.00 2 Floor Grating 6.00 No 150.00 1200.00 Providing Lighting points Using wire of 1-5 sqmm, copper conductor, Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 250.00 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 1100 volts, FR, for phase neutral & 12.00 No 1500.00 Conductor Multi stranded 12.00 No 1500.00 Conductor Multi stranded 12.00 No 12.00 Conductor Multi stranded 12.00 No No 12.00 Conductor Multi stranded 12.00 No No No No No No No								1	
Providing Lighting points. Using wire of 1-5 sqmm, copper conductor, Multi stranded, 1100 volts, FR, for phase, neutral &	_			-	No			-	
Providing Lighting points. Using wire of 1-5 sqmm, copper conductor, Multi stranded, 1100 volts, FR, for phase, neutral &	_						150.00		
conductor, Multi stranded, 1100 volts, FR, for phase, neutral &	_		6.0	0	No		250.00		
pipe of reputed make including chasing of walls and making good the same Testing / Commissioning for all points upto 6 Amp) including Switches, indicators, MCB's and all connected items etc	con eart pipe the incl	th of Imm green colour for each point including PVC Condut e of reputed make including chasing of walls and making good same Testing / Commissioning for all points upto 6 Amp) uding Switches, indicators, MCB's and all connected items etc	20.0	0	points		1000.00	20	000.000

and I

day.

Shadipora JJM Page No 6



					1
mul neut coni indi incl	tistranded copper wire, 1100 volt FR to be laid for phase and tral but 2.5 sqmm cable for earth in green colour to be nected for all the required points/ sources neluding Switches, icators MCB's including PVC Condut pipe of reputed make luding chasing of walls and making good the same and all nected items etc complete	10.00	points	1500.00	15000.00
25 P/F aco	itting / Commissioning of Main Switch board for commodating the MCBs of sizes -HPL/ Standard / SSK make "x24")	2.00	No	2000.00	4000.00
26 Sup	oply and fixing of LED Bulbs of Superior/ approved quality W (220-240V) with frequency 50 Hz.	10.00	No	220.00	2200.00
27 Sur all cor	pply and fixing of Hot Water Gyser 50 Ltr Capacityincluding accessories incld installation, testing and commissioning mplete of Superior/ approved make as per direction of gineer-In-Charge.	2.00	No	12000.00	24000.00
	rriage of materials from source to road site of work by	-			0.00
_	ment and Steel 20 Km's	195.84	MT ,	356.60	69836.54
$\overline{}$	nd and 20mm crushed aggregate 30 km's	539.02	Cum	402.29	216842.36
	ushed Aggregate 40mm nominal Size 30 Kms	128.41	Cum	437.30	56153.69
_	icks 110 Km's	18320.00	No	3.45	63204.00
_	I Pipes below 100mm dia 20 Km's from Div. Store	49.92	MT	356.60	17801.47
Ca 34 ma	arriage of materials from road site upto actual site of work by anual means (Head Load) avg 200 mtrs including loading				0.00
_	loading and stacking complete.	115.72	MT	220.73	25542.88
	ement	13.36	MT	376.05	5024.03
36 St		275.35	Cum	347.02	95551.96
	and and 20mm Crushed agg	107.86	Cum	375.13	40461.52
_	mm crushed aggregate	.07.00			12431342.23
To	epreciation on all above items of Work @ (-0.001%)	用自然的称称	Manager State	ALSON 19 18 18 18	124.31
_	Total	0.00	0.0		12431217.92

Technical Officer

Executiv Chaghreer PHE Jal Shakti Division Handwara

Copy to the:-

1. Distt. Superintending Engineer Hydraulic circle Kupwara H/Q Handwara for information.

2. Assistant Executive Engineer PHE Sub-Division Ramhall for information with the direction as the Letter of Intent has already been issued and the work shall be completed within stipulated time.

3. M.File

Shadipora JJM Page No

